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1024
1021
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10'12
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10'18
10'21
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Sl

Sl
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mZ
m m?
kg m/s
s m/s?
A m*
K kg/m®
mol kg/m?
cd m®/kg
Alm?
A/m
@ mol/m?®
kg/m?®
cd/m?
) 1
® 1
a amount concentration
substance concentration
Sl
Sl
Sl Si
[ rad 1 m/m
Of sr@ 1 m?/m?
Hz st
N m kg s?
, Pa N/m? mtkgs?
, J N m m?kg s
w Jis m?kg s
(o] sA
, \Y; WI/A m?kg s° A
F CIV m?kg™ts*A?
Q VIA m’kg s®A?
S AV m?kg’s’A?
Wh Vs m?kg s?A*
T Whb/m? kg s?A?
H Wb/A m?kg s?A?
) K
Im cd sr® cd
Ix Im/m? m?cd
Bqg st
c Gy Jlkg m?s?
' Sv Jlkg m?s?
kat s mol
(a)s!
(b)
rad sr
() sr
(d)
(e)
(U] activity referred to a radionuclide "radioactivity”
(@) PV,2002,70,205 CIPM 2 CI-2002
Sl
Sl
Sl
Pas m™kgs?t
Nm m?kg s
N/m kg s?
rad/s 1gl=gl
rad/s® m*s?=s?
; W/m? kg s*
JIK m?kg s?K*
J(kgK) [m?s?K?
Jikg m?s?
W/(mK) |mkgs®K?
Jim® mtkgs?
Vim m kg s®A*
c/m® m3sA
C/m? m?sA
C/m? m?sA
F/m m2kgtstA?
H/m m kg s?A?
J/mol m?kg s?mol™*
. J/(mol K) |m?kg s? K™ mol™
y Clkg kgts A
Gyls m?s?®
Wisr m*m?kg s=m?kg s*
Wi(m?sr) |m?m?kg s®=kgs?
kat/m® _ |m* s mol

min |1 min=60 s
1 h =60 min=3600 s

d |[1d=24 h=86 400 s

°  |1°=(m/180) rad

' |1'=(1/60)°=(/10 800) rad
" |1"=(1/60)'=(1t/648 000) rad
ha |1 ha=1 hm?=10*m?

-

t |1t=10°kg

1 L=1 I=1 dm*=10°cm®=10°m?

Sl

Sl Sl

Sl

eV |1eV=1.602 176 53(14)x10™°J
Da |1 Da=1.660 538 86(28)x107°'kg

u [1u=1Da

ua |1 ua=1.495 978 706 91(6)x10*m
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Sl
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bar
mmHg

mmHg=133.322Pa
=0.1nm=100pm=10"’m
M=1852m

b b=100fm?=(10"?cm)?=102’m?
kn kn=(1852/3600)m/s
Np

ST

dB

bar=0.1MPa=100 kPa=10°Pa

CGS

Sl

erg |1erg=10"J
dyn (1 dyn=10°N
P |1 P=1dynscm?=0.1Pas
St |1 St=1cm?s’=10"m?s™
sb |1 sb =1cd cm?=10%d m?
ph |1 ph=1cd sr cm? =10"Ix
Gal |1 Gal =1cm s%=10%ms?
Mx |1 Mx = 1G cm?=10°Wb
G |1G=1Mxcm?=10"T
Oe [10es (10%4m)A m™
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@
>

Sl

rem

Torr
atm

cal

1 Ci=3.7x10'°Bq

1R = 2.58x10™C/kg

1 rad=1cGy=107Gy

1 rem=1 cSv=10?Sv

1y =1 nT=10°T

1 =1 fm=10""m

1 =0.2 g = 2x10™*kg

1 Torr = (101 325/760) Pa
1 atm =101 325 Pa

1 cal=4.1858J 15
T 4.184)

11 =1um=10"°m

4.1868J
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